@ 2(x-1) < —(9-4x)

® x+5-3
@ (

@ 40 - x <108

2) (3x+1)

x_
3

®)7-3x=2x+11

oju

7-3x = 2x+ 11°] 54 o[},




£

ohg

filo

Hoz g7 ek 2L

Mo

A7F 1000 DA a% ER1E 7HA

@ (1000 -a) ¥ @ (1000 - 5a) &
@(1000 —10a) ¥ @ (1000 — 100a) ¥
® -a ¥

A0 2 VFERRE 1000 — 1000 x % = 1000 — 10a( 1) ©]t}.




—2x+4 =ax+2b 7} x o] gt

3.

@)0 ®1

® -1

gt

iyl o] Zrofof
=-2b=2 a+b=00|Tth

T

=

A]O
-
a

w2t A

1

o




K7
@ 1-3x=-2 © 2x+2=
©3-x=1 ® 8—4x=-4
® 4x+1=13
ONQ) ® 0,0 ONCNG)
@)®, ® ® 0,006

x =3 & st Adste Ae #oW @, @0t




@x+3:1=>x:—2 @ 3x=-12=>x=-4
1
®§x:3=>x=6 @ 02x=04=2x=14

® 2x-2=8=2x=10

549 ] 22 4+ HopAY WAL FoAY rolE

—x+3-3=1-3(FHAA 3 mwic})




@D 4x+5=9—>4x=9+5

© 5x+2=06x— 5x—6x=-2

© 3x+5=6x-8—>3x-6x=-8-5
® -2x+3=3x-2—>-2x-3x=-2+3

® x-1=-x+3->x+x=3-1

® 3,0 @ @,® ®o. e
®0©,0,0 ONCRCNE
@4x=9-5

® 2x-3x=-2-3
@x+x=3+1




@xzo @ 2(x—1)=2x-2
® 2x-3=5+2x @2x2—3x+1:2(x2—1)

@2(x-1)=2x-2: &34
®2x-3=5+2x,2x-3=2x+5

. AR 54
@2x?-3x+1=2(x*-1),-3x+3=0
QA
@3x(x-1)=x-1,3x>-4x+1=0

: ol




)1 @ 2 ® 3

@ 0

8—x

6 (3x—4)

6-3x+4=8-x

= -2
L=l

—2x




ohg g4

0] g Fatu?

v

dx—d 14
1=025x——
6 x-

@x =-20

@ x=10

@ x=-12

® x=14

~&B

3x—4 l—f_E
6 173
2(3x —4) + 12 = 3x - 56
6x -8+ 12 =3x-56
3x = —60

x=-20




WAL 3x -5 =28-3x2 S|t x=a¥d

— 209 B2 7

13 13
o-p ©-3 ©-

, xof o

@ -5

7ot olzju}

‘— [e}

® -11

%

3x—-5=28-3x
30x — 50 = 28 — 30x

13

60x =78, x = T0
13
A= 15
13 _

ax+—:—2°ﬂa_1——%tﬂ?:}o]-1{ﬂ
13 3
EX—Fg -2
13 13

Al
=1



@2(x—3)=4+2(x—5) @ ;lx+3=%x+4

@ 35x—4=15x-4 @ 5x=10-5

3x—3 2x—2
@ 6 - 4

B

® 2(x-3)=4+2(x-5)
2x—6=2x—-6
1

@ Zx+3==x+4
41 3
—r =1l
12"

® 35x—4=15x-4
2x=10

@ 5x=10-5,5x =5

©3x6—3:2x4—2
101 1.1
2¥ 727 32% 73




12.

e %

@
@)x =3y old x—2 =3y -2 0|t}
@
®

~&B

A

ftlo

1=m?

flo

@ x=3y°l¥ x+2=3(y+2) °lth
S =3 ol® 8x =4y otk

—x=y°lHx-2=-y+20|ch

rd
N = =

x =3y 9]

(S

ol

@ x =3y & o, FHof 28 TotH, x4+ 2 = 3y + 20|t} 1
B2 x4+2=3y+ 62 2A gt}

@ g = fi o uf, 9pdef 125 FoHA 4y = 3yolct. 1HuR
3x=4E &4 g

® x =3y FHol 25 WH x— 2 =3y - 20T},

@ —x=yd o, FH| 25 tlotH —x-2=y-2°|t}y. 19
B2 x-2=-y+2% 2% g}

®x=3yd o, FHS 152 }rw % - gom. adng

o}

£ 87

52

o<

x
2




Qx—Z(x—a) =15

8x—5(x—a) =60
8x — 5x + ba = 60

3x = —ba + 60
v —5a + 60
3

« 7} 9F9] Aol el 5a + 60 o] 39| ¥j4:7} Slofo} snz
a=: - ’_3a0a3a699 7]— % Zl\_ (1)}\]:]—




14. xof T dAFAHA (7-x): (x+3) =2:5 9 37t a & o,
Ta—b =20 o[t} b O] FE2
® 1 @ 3 ® 5 @7 @)

2(x +3) = 5(7 - x)°ll A
2x+6 =35 - bx
7x =29
L
nx=5
29
TX = —b=20
*7
29 — b =20
b=




ohe % A4 o7 2L 0, 0] 27

1
034+ =-=x+ - —ax+§:—5x—3

| Ot

X 4

3+ 5x=10x+8
—-5x=25
Lx=-1

1
—ax+§:—5x—3

—3ax+1=-15x-9
(=3a+ 15)x = -10

_ 10
15— 3a
SugA oerigong
10
—l==
15— 3a
10=15-3a, 3a=5
) 5
La=—

3




(a=3)x=b-5
D a=3 @ a+3 ®b=5
@ b+5 (@)a—S b#5

" 2lo] di7} 91 2 AL FoHe Ao|B g x 9] A&k (o] g

o] Zo] Fojof g,
o2t g-3=0, b-5+0
a=3,b#5

Z 0xx = (0°] obd &)




